T’F%’é;‘iﬁiiﬁ:
1AZRIEE 2 445> 5 A3E50 4 ; £ 1 F o
2.3 )R VAP AR ITE 0 BT BALEL -
37%’%4»} 5 1F

R
4.FHEFTRIFE o

EEA AL

A

~ERTEALE(F I A 0 £ 504)
— X F 2 ARRE X F2E RNk, X F R Ep 5 2EE
ANHAEENER S (FR& (PR EFPHEFR))
Foh- 22 AFRNES ~(FF-FE227))

FEREPE AT AL R A BN o 4B
TP LR AT EY L c((FF BRI L))

J

Iy

/

Jvy

w3 e TR BB A A s o ((BE L i2))

T2 HEReE s PR EEAEL o AT R BEF T H
RIF R E @2 B B2 o (8B (FPE ke )
& H 50 &

B 1



P ERAR 1065 ERALI §

27 Kk

T E AR TR
1. A48 4
2.4 * ¥4 0 F

3. LA TR 0 ik

—5\ °
%

— ~ Vocabulary and Phrases : (20 4 )
1~ # &::zx
2 ~ bR
3 A H =
4~
5~ 7 5k FriE

= ~ Translation : (30 4 )

(=) (¢ i)

g LIRS L ) SRR U e - B

LAY i SR
sl B E R L

(= ) (English to Chinese) :

73 2

D JlRirF EE R R ER o P A L 4

a zﬁﬁg’a%%%%wo
;lz
fl

6~ " F FTRr
7~ HPE e
8« w4 % 27
0\ MLEAL ¢ &
10~ ES P § =

Y P

A AP it B

FivenR e HPKENR

Rl TR E IS BRETE TR

2

Buying drugs from a suspect is a direct means of

[mkﬁﬁﬁﬁﬁ
o E N B EH s CE R AR

gathering evidence. Undercover drug operations, though dangerous, is useful in
identifying participants in drug conspiracies. Undercover officers should be
intelligent, reliable, confident, and resourceful, and have good judgment and

excellent communication skills.
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= ~ Reading Comprehension : (20 4 )

Qs 1-5: Closest in Meaning Test: Find the sentence that is closest in meaning to the

one given for each question.

1. Police officers are prohibited from firing warning shots under any circumstances;
police officers are also not permitted to shoot at a moving vehicle unless the vehicle
being shot at is being used in an assault attempt.

(A) When their lives are threatened, police are authorized to fire warning shots.

(B) Police officers are never allowed to shoot at moving vehicles.

(C) Police officers can shoot at moving vehicles only if a police officer’s life is
threatened.

(D) Police officers can sometimes shoot at a moving vehicle.

2. “Law must be stable and yet it cannot stand still,” means most nearly that
(A) law is a fixed body of subject matter.
(B) law must adapt itself to changing conditions.
(C) law is a poor substitute for justice.

(D) the true administration of justice is the firmest pillar of good government.

3. We must remember what happened in the past so that it will never happen again.
(A) If we could remember the past, it would not happen again.
(B) In order not to repeat the past, we should certainly not forget what happened
then.
(C) Since we all tend to forget what happened in the past, we do the same mistakes
again.
(D) Those who couldn't remember what happened in the past were more likely to

repeat it.



4. Because of his innocent face, it is difficult even today to believe he was a criminal

although it had been certainly proven.

(A) Today it is possible to understand why people didn't want to believe that he
was guilty as he had an innocent face.

(B) If it had been proven that he was guilty, they would believe that he was a
criminal.

(C) It doesn't necessarily mean that criminals can't have an innocent look.

(D) Despite the fact that he was proven to be a criminal, his innocent face makes it
difficult to believe that.

5. French is the only language other than English spoken on five continents.
(A) French and English are the only languages that are spoken on five continents.
(B) French and English are spoken widely in official and commercial circles.
(C) Before English, French was the only language spoken on five continents.

(D) Worldwide, French is the most widely taught second language after English.

Qs 6-10: Based on the passage below, answer the questions that follow it.

Crime prevention through environmental design (CPTED) grew out of the
concept of defensible space developed by an architect and urban planner. Sometimes
referred to as designing out crime, it has become an important tool for police in
assisting communities in crime prevention efforts. The theory is based on the belief
that design of the physical environment can create opportunities for people to come
together and at the same time can remove the opportunity for criminals to act freely. It
does this by concentrating on a facility’s design, landscaping, and security technology,
including a combination of security and police personnel, to create a series of
preventive measures that combine to reduce problems or disruptions to a facility.
These same preventive measures are meant to provide a sense of confidence to the
public that a location is secure.

CPTED is most cost-effective when included in original design plans because this
saves the costs associated with renovating or moving existing facilities. An example of

a CPTED-based renovation in a mall or a transit facility would be moving the payment

®= 3



area of a parking lot where crimes have occurred closer to where it can be seen by
general users or by the facility’s security officer. In this case, the placement of the
payment area increases safety through the environmental decision of moving it into a
safer area. The same example in a new facility would require someone with knowledge
of CPTED principles considering the placement of the payment area during the design

phase so as to prevent having to move it later.

6. According to the passage, police departments are most likely to use CPTED when
(A) helping communities develop crime prevention strategies.
(B) looking for car thieves on city streets.
(C) designing new police stations.
(D) all of the above.

7. The passage states that CPTED was developed by
(A) police community relations units.
(B) parking lot developers.
(C) a master builder and municipal planner.

(D) private security directors.

8. Based on the passage, CPTED would be least useful when
(A) renovating a suburban train station.
(B) renovating a shopping mall.
(C) renovating a private residence.

(D) renovating a public-access interior courtyard in a museum.

9. According to the passage, CPTED is most cost-effective
(A) in renovations.
(B) in new construction.
(C) when combined with other uniformed patrol tactics.

(D) when combined with plainclothes patrol tactics.



10. As a police officer, you would most likely be expected to have a knowledge of
CPTED as a
(A) homicide detective.
(B) crime prevention officer.
(C) crime scene investigator.

(D) stationhouse sergeant.
2 ~ Essay : (30 & )
Write an essay on the topic: Stress Management in Law Enforcement
No job is immune from stress, but for the law enforcement officer, the strains and

tensions experienced at work are unique, often extreme, and sometimes unavoidable.
In your opinion, how to tackle this work-related stress? Write an essay on this issue.
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